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IER T =5 = = Hee X
HUET| | otEEY| | AEEY| | stEEY| | AEED| | SHERY| | ARED| | SHREED| | AEEY| | sHEED|
o | KA = @R [ 6/25 [11/28]0.006 | 0.002 | 0.7 | 0.3 | 0.159 | 0.041 | 0.556 | 0.278
TE L gz o o4l | 6/25 | 12/04 | 0.004 | 0.017 | 0.5 | 2.5 | 0.066 | 0.203 | 0.191 | 1.637
2y CHA = BH&F | 5/21 | 11/28 | 0.014 | 0.004 | 2.4 | 1.4 |0.250 | 0.104 | 1.089 | 0.670
&t& o Al | 5/21 | 11/28 ] 0.010 | 0.013 | 1.7 | 1.3 | 0.146| 0.102 | 0.498 | 1.443
oy | 7HOF= FE | 5/20 | 12/04| 0.006 | 0.014 | 1.1 1.6 | 0.101 | 0.149 | 0.525 | 1.110
TS x® = Jtof | 5/20 | 11/29 | 0.009 | 0.005 | 1.4 | 1.1 |0.121 | 0.077 | 0.774 | 0.733
wop | ZEHE ZZ | 5/20 | 12/04 1 0.012 | 0.016 | 3.4 | 1.4 | 0.249 | 0.244 | 1.769 | 1.806
C ] gzt =2t | 5/20 | 11/29 | 0.008 | 0.008 | 0.9 | 1.2 | 0.165 | 0.136 | 0.643 | 1.134
opoip | WS BIE | 520 11/29 0.005 0.004 1.4 1.0 |0.138 0.125 0.543 0.737
7l mlg o o | 520  12/03 | 0.005: 0.002 | 1.2 = 1.4 |0.158 0.090 | 0.618 0.383
a0p | TH®I = £ | 520 12/03|0.007 0.013| 1.3 1.5 |0.111 0.129|0.737 1.762
= 29 o | 520 11/29 | 0.008  0.005| 1.3 0.6 | 0.141 0.079 | 0.831  0.777
sy | HE o OI® | 520 11/29 | 0.009 0.004 | 2.0 = 1.3 |0.204 0.100 1.150 0.708
SS | o = ®E | 520 12/02|0.010 0.007 | 2.4 3.3 |0.202 0.221 | 1.138  1.218
oy 28 o FE 1520 11/29]0.005 0002 06 03 |0.066 0.045 0.146 0.226
TS 2= o 28 | 520 12/03|0.009 0.010 1.6 2.9 |0.125 0.087 | 0.810 0.881
ol o = 28 | 520 11/29]0.007 0.008| 0.4 0.5 |0.136 0.090 0.440 0283
= 28 o | 520 12/03|0.005 0.007| 0.5 0.5 | 0.061 0.143|0.150 A 0.889
aoy | F¥ = S | 520 12/03]0.005 0.006| 0.3 = 0.4 |0.052 0.032 0.122 0.068
TS| == 49 | 520 11/29 0.007 0.003| 1.1 0.1 |0.112 0.049 | 0.714 = 0.441
| ChAl => 1™ | O]AAl 11/28 | OJAAl 0.005  O|AAl 0.8 |0OJAAl 0.043 | OJAAl 1.080
IF = N v 11/28 1 0 0.002 | 0.6 v 0.042| o+ 0.200
=& | 7E = o o 11/28 | »  0.001 % 0.3 v 0.026| 0.056
Ched | cich = 75 v 11/28 | 0 0.002 | v 0.2 7 0.031 v 0177
. ¥ O AS v 12/03| o+ 0.006 | 0.4 v 0.059| »  0.170
T s o kX »12/03| o+ 0.007 | » 0.3 v 0.051| »  0.115
o=s - v 11/29 ] 0 0.002 | # 0.7 v 0.050| »  0.259
Tl s o kX »12/03| ¢ 0.007 | » 0.6 v 0.058| o 0.271
o | S ER v 12/02| v 0.006 | 0.8 v 0.045| 7 0.960
T EZ o o v 12/02 0 0.002 | » 0.3 v 0.053| »  0.195
A AH| o &5 »12/03| v 0.005| 0.3 » 0.065| »  0.233
&8 © $H] v 12/03| »  0.009 | 0.4 » 0111 o+ 0.805
AHA $H = &7 v 12/03| v 0.007 | 0.6 » 0156 | o 0.629
&8 o 44| v 12/03| o+ 0.007 | 0.9 v 0.065| »  0.378
g | M2 BT v 12/03| v 0.006 | 0.4 »0.080| »  0.281
|l s¥ o R v 12/03| v 0.005| 0.3 v 0.046 | o 0.142
. TA| = Mo} v 12/03| »  0.008| 1.1 v 0142 ¢ 0.645
Hop o £A| v 12/03| »  0.008| 1.4 v 01423| ¢ 0.518
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AHET|  SHEEY| | AREY| S| | AEED] SHEEY| | AT SHEED| | AEED| SHEED|
oy | 20 B2 [0I4AL 12/03 (0184 0.007 [OIHAL 05 [OlAAl 0.069 [AlEA 0.318
3 o> Ao} v 12/03| 4 0.011] 0.7 0427 0 1.181
wo | 2ol o M v 12/03| +  0.005| 0.3 »0.053| o+ 0.156
S o e v 12/03| »  0.006 | 0.4 v 0.051| o+ 0.319
o | 3o FH »12/03| 4 0.007 | 0.3 o 0.092| s 0519
T ¥ o Hp v 12/03| »  0.006| 0.4 » 0.058| 7 0.256
Sy | 2MH = oA v 12/04 | 0 0.011 | 0.6 »0.076| o+ 0.415
HA = 74 o 12/04 ¢ 0.008| 0.3 » 0.068| o  0.295
P == P v 12/04 0 0.009| 0.6 o 0.093| ¢ 0.429
A | AN = - v 12/04| »  0.007| 0.7 » 0077 r  0.310
e | M = AH v 12/04 0 0.010| 1.2 v 0160 +  1.013
SEE S o oty v 12/04| 0 0.007 | 0.3 » 0036 r  0.099
ol | ok o o) 12/02 0 0.004| 1.7 0126 ¢ 0.622
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